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Review Exercise 6 - Answers

2Mg + 102q -—-> 2MgO

2PhOys -—>  2PbOg+ 1Oy

1 Ca(OH)2@q) + 2HClyg ---> 1CaClygq + 2 HOHy,

1 (NH4)2SO4g) + 2 KOH@g > 1KySOuag+ 2 HaOp + 2 NHag
2 Al + 3HySOunq > 1AL(SOu)saq+ 3 Hag

1 CsHgg+ 5024 --—-> 3COyq+ 4HO(q

INa@ + 3Hazg -—> 2 NHgg

1 Fe035 + 3CO(g) -—-> 2 Fept 3 COgyy

1 CaCOspg) + 1H2SOunq > 1COgq+ 1HOp+ 1CaSOuug
2NaClaq + 1Bag -—->  1BaClyug + 2 Nag,

3 Ca(OH)aq + 2H3POsnq -—-> 1 Cag(POs)zaq+ 6 HOH

2 AsClyag + 3 H2S(g) —->  1AS;S;ag + 6 HCliag)

2 FeClyag + 3 (NH):S@g > 1 FesSsag + 6 NH4Cliag
3NaOH@q + 1 H3POsaq -—> 1 NagPOupg+ 3 H.Oy

1 CioHe(g) + 3Clyg --—-> 6 HClg + 10 Cy

1 Pb(CH3CO0)(aq) + 1 (NH4)2Siaq -—->  1PbSpq + 2 NH4sCH3COO 4
AFeSpg + 70yq -—-> 2FeyOszpuq + 4 SOy

2KNO3ng) ---> 2 KNOypuq) + 1 Oy

2 Al + 6NaOHgq --—-> 2 NazgAlOza + 3 Hyg

2 KMnO4(aq) + 5 H2803(aq) --> 1 K2804(aq) +2 MnSO4(aq) + 2 H2804(aq) +3 H20(|)
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